[EX] Ma=22M4{(1)]

om0 5 H M A
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(201743 02& 28Y #HAN)

A=el5F - = g =& |0X[7[&| oa3FF AzxtH= of X =
F3 A= A = RN = 0
o = = A= | t+2d | 7IEAR0= 065-12-005942 35,592,414
o2 | 7IEA=0= 065-12-001403 4,786,854
o2 | 7IEA=0= 504-10-152679-8 6,672
w2 | Z7IgXRo= 504-10-196108-0 36,630,052
o2 | 7I8A=0= 504-10-227615-7 634
o2 | 7I8A=0= 504-10-242392-1 7,004,061
o2 | 7IEA=0= 065-12-001205 303,081
w2 | Z7IFXRo= 065-12-006510 0
o2 | 7IEA=0= 504-10-114423-0 0
o2 | 7I8X=0= 504-10-246165-2 0
o2 | 7IEX=0= 504-10-254071-2 0
o= 2S0= 065-05-004972-8 0
o= 2S50= 065-05-077619-484 0
CH L2 2E0= 065-10-001760 0
CHL2 MMT 560-10-143533-8 320,090,257
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[EX] Ma=22M4{(1)]

= 2 X712 Oo=EF AzxtH= of X =
o= d700= 511-14-179934-5 40,000,000
CH L2 Hol0l= 511-14-179988-3 100,000,000
CH L2 Hol0l= 511-14-179999-4 100,000,000
CHL2 Hol0la 511-14-180005-6 100,000,000
CH L2 Hol0l= 511-14-180008-7 100,000,000
CH L2 Hol0l= 511-10-287183-3 1,033,000,000
CH 22 Holol= 511-13-269535-0 5,000,000
CH L2 Hol0l= 511-13-621674-8 5,000,000
CH L2 Holol= 511-14-170945-8 90,000,000
CH L2 Hol0l= 511-13-871905-9 54,300,000
=49 go10= 303-1954-9506-11 70,000,000
= 2,101,714,025 -12,263,000
= A 2,101,714,025
do|HH7|5 CH 22 "o10= 511-13-231939-1 500,000,000
CH L2 Hol0l= 511-13-269415-9 680,380,832
CH L2 Hol0l= 511-13-269560-7 27,600,000
CH L2 Hol0la 511-13-269566-9 31,200,000
CH L2 Hol0l= 511-13-289318-9 553,000,000
o= d700= 511-13-326047-7 454,000,000
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[EX] Ma=22M4{(1)]

INg=Rei o - = g =& |0X[7[&| oa3FF AzxtH= of X = H 1

CHL2 3 Hol0l= 511-13-431498-1 550,000,000

o= d700= 511-13-484606-8 557,206,000

CH L2 Hol0l= 511-13-673616-7 360,800,000

CHL2 Hol0la 511-13-749023-5 400,000,000

o= d7l0= 511-13-787409-1 557,272,000

CH L2 Hol0l= 511-13-821727-0 515,600,000

o2 d7l0= 511-13-947437-3 517,000,000

CH L2 Hol0l= 511-14-012642-2 525,000,000

o= d7l0= 511-14-139545-0 350,000,000

CH L2 Hol0l= 511-14-159129-0 250,000,000

o= d700= 511-14-161062-9 235,490,752

CH L2 go10= 511-14-170643-5 399,113,000

o= d700= 511-14-170904-5 21,413,000

o= d700= 511-14-179942-5 200,671,969

o= d700= 511-14-179949-4 31,246,671

o= d700= 511-14-179967-8 47,576,360

=49 Ho10= 303-1812-5163-41 641,900,000
g4 o d = 71 3 A 8,406,470,584

S8=H7a o 2 |assznsg| iy d700= 511-13-244004-4 300,000,000
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[EX] M4z 22X 4(1)]

INg=Rei o - = g =& |0X[7[&| oa3FF AzxtH= of X =
HENETI|Z| fH2H d700= 511-13-253944-6 400,000,000
CH L2 0= 511-14-164032-3 200,000,000
gl 2y 7103 511-13-416588-8 500,000,000
UMz | 2™ Hol0l= 511-13-280037-3 40,000,000
7IERZ|E | e 0= 511-13-801922-9 235,658,900
o2 d700= 511-14-179979-6 4,429,694
2 9o 71 B 7 & A 1,680,088,594
gt A 12,188,273,203
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[EX| M4z 2l2M4{(2)]
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(2R M4a=2[3A4]]

422 9 M A

(20174 02& 28

- = Ly £ =] oY H 1
M= 2017HE B3| CHSA| U A A 62,000,000
M31CH 2tz 128 4H| 3,500,000
XN31CH BtMz| 28 4H| 3,070,000
et A 68,570,000
20162 A A= CH-5 ICH AN xls 7H|O| X| ME2EMAM HISES)



M A

)

e
O
—

3

Mo
<

2l

(20174 02E 28¢

_I|_
o
(@) (@) (@) (@)
o o o o
o o o Q
S w1 ©
= | & & & =
al o <
ro
< o°
jol oF
Rkl OF
ol ol
<k
m
10 30
Tl
<k
o m m
ol T T
= | <+ @ o
ﬁ gl RI iy
N o o
<F o o
%._ K 124
o W U
q T T N
M5 g
(@V] Al
g | M
~nO o
<k m
N <
=1

)

==
s=T

Ol== MM (H

8H|O[ X|

20162 |AHE O+



[EX| M4z aM 4]

24N == | A

(2017 2€ 28 sixh)

7 oz A T =R 2 o B 1
SENETE
g

20162 A Qe OS5 ATt ul 24t xls 9| O] X| A28 MAM (HISES)



[EX| ®M4z=2l5M 4]

oL == R B | I .| A
(0174 2& 28 &)
(Tl - &
o2y < o2} WA EE(FLO0IRL | MFHAMRELRY) | NS F UM RE ) H 1
2016-03-04 [HiTt2 MMTO5 O|AtASA Ted=esAH 91,423 12,790 1,270
2016-03-14 [CiT+2d F7|05 O|XAtASA T2 SKHE 10,636,712 1,489,130 148,910
2016-03-17 L2 H7|0F O|AtASA TedeesXH 6,046,520 846,510 84,650
2016-03-21 [CH7+2% MMTO|= O|XtASA e sXHE 251,165 35,150 3,500
2016-03-21 |72 H7|0|F O|AtASA redeesxH 7,783,452 1,089,680 108,960
2016-03-25 (L7128 MMTO|= O|XtASA T2 =2 SXH 38,572 5,390 530
2016-03-25 |Ci2 ™7|0|F O|AtASA redeesxH 16,921,772 2,368,480 236,820
2016-03-28 |CHF+2¥ 7| YX-R0IS O|XtASA e sxE 39,607 5,530 540
2016-03-31 (L2 MMTOIZ O|XtASA FurTedes|skd 55,756 7,790 770
2016-04-01 [CiT+2 F7|05 O|XAtASA FuUTFddE=XH 10,258,528 1,436,190 143,610
2016-04-12 |CH728 MMTOIZ O|XtASA| U222 SKE 118,137 16,530 1,640
2016-04-14 (L7128 MMTO|= O|XtASA Fured2elsXHE 2,150 210
2016-04-14 |72 H7|0|F O|AtASA redeesxH 8,194,389 1,147,210 114,720
2016-04-22 |72 MMTO|Z O|AtASA g2l sXHE 45,470 6,360 620
2016-05-02 [CHTH2& MMTOIZ O|XtASA FedEesXH 42,325 5910 590
2016-05-16 [CiT+2d H7|0|5 O|AtASA FUTeddEEXNHE 8,670,684 1,213,890 121,380
20163 49 E P2 St ZAAM xis 10| O| X| HS-AMBMAM HISFT)




[EX| ®M4z=2l5M 4]

(CHel - &
AEY W & SRS BN DM EZEYUO0IRY) | MSHAMRF LR | MZF DM (HHE LT AH) 2
2016-05-20 (L2 87105 O| Xt A=A Et2d2e s X8 9,651,369 1,351,190 135,110
2016-05-25 |58 7|05 O|XtASA| sg2dE I F 270,000 37,800 3,780
2016-05-27 |72 MMTO|Z O|XtASA Furedes|skd 58,037 8,120 800
2016-05-30 [CiT+2 MMTO|Z O|RtASA FuTed2esXHE 9,296 1,290 120
2016-06-01 |5 7|05 O|RtASA| SE2YFE X R 290,712 40,690 4,060
2016-06-03 |CT+2 MMTO|Z O|RtASA GO I8 Rttt SN RS 16,904 2,360 220
2016-06-09 [CHT+2 F7|03 O|AtASEA Et2d2e s X8 9,666,073 1,353,250 135,320
2016-06-20 |58 7|05 O|XKtASA| sg2dE I F 346,931 48,570 4,850
2016-06-22 |CiT+2 F7|03 O|XAtASEA Furedes|skd 79,216 11,090 1,100
2016-06-27 (&8 E7|03 O|XAEA sg2dFE A F 274,438 38,420 3,840
2016-06-27 (L2 7| AR O|RFASA| FurTedes|skd 130,822 18,300 1,810
2016-06-30 |CiT+2 MMTO|Z O|RtASA FuTd2elsXE 130,948 18,320 1,820
2016-07-01 |Hi7+2d MMTO|Z O|AtASA Furedeeskd 7,482 1,040 100
2016-07-11 |72 MMTO|Z O|RtASA 22l sXE 36,845 5,150 510
2016-07-14 (L7128 F7|05 O| XA SA Furedee|skd 5,716,258 800,270 80,020
2016-07-25 D72 MMTO|Z O|RtASA COL8 Rl iy SN ES 38,932 5,440 530
2016-08-10 [CHT+2% MMTO|Z O XA S A FurTedes|skd 35,434 4,950 490
2016-08-16 [CiT+2d H7|05 O|AtASA GO I8 Ry SN RS 9,583,890 1,341,740 134,170
2016-08-25 L2 F7|03 O|AtASA FuFedes|skd 371,479 52,000 5,200
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[EX| ®M4z=2l5M 4]

(CHel - &
== W & SRS BN DM EZEYUO0IRY) | MSHAMRF LR | MZF DM (HHE LT AH) 2
2016-08-29 (L2 7105 O| XA A Et2d2e s X8 9,180,981 1,285,330 128,530
2016-09-05 (L1238 MMTO|= O|XtASA FuTd2elsXHE 150,975 21,130 2,110
2016-09-05 [CHT+2 E7|03 O|AtASEA FurTedes|skd 6,651,432 931,190 93,110
2016-09-19 [CiT+2 F7|05 O|AtASA FuUTFddE=XH 8,235,756 1,153,000 115,300
2016-09-26 [CHT2 7|HALFO S O|RFASA| Furedes|skd 23,605 3,290 320
2016-09-28 (L1228 MMTO|= O|XtASA g2 sXE 194,285 27,190 2,710
2016-09-30 (CHTH2& MMTOIZ O|XtASA FurTedee|skd 15,728 2,190 210
2016-10-04 [CHT12% MMTO|= O|XtASA COI8 Rl iy SN RS 31,506 4,410 430
2016-10-07 (L2 7105 O| XS A Et2d2e s X8 834,379 116,810 11,680
2016-10-10 |58 E7(05 O|XtASA| SH2HFHHEHEZXR 198,789 27,830 2,780
2016-10-14 |&& H7|0|5 O|RtASA| SE2YFE X R 9,435,930 1,321,030 132,100
2016-10-25 |58 E7(05 O|XtASA| SH2HFHHEHEZAR 87,500 12,250 1,220
2016-10-31 [CiT+2 F7|03 O|AtASEA FuTedes|skd 16,173,666 2,264,310 226,430
2016-11-10 |58 7|05 O|XKtASA| sg2dE I F 110,513 15,470 1,540
2016-11-14 |72 F7|03 O|XAtAEA FuTedes|skd 8,183,614 1,145,700 114,570
2016-11-25 |58 E7(0|5 O|XtASA| sg2dFE I F 187,250 26,210 2,620
2016-12-12 (72 MMTOIZ O|XtASA Furedes|skd 561,620 78,610 7,850
2016-12-19 [Ci7+2d F7|05 O|AtASA FuTd2elsXHE 8,310,246 1,163,430 116,340
2016-12-23 [&¥ H7|0|3 O|RtASA| SE2YFE X R 174,791 24,470 2,440
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[EX| ®M4z=2l5M 4]

oEy W & IMEZEEEYOIRY | MFHAMREBHEY) | MSFOUM R GEY) H 2
2016-12-26 |[CHT2 7| YRS O|RFASA| () A 56,977 7,970 790
2016-12-28 (CHT+2% F7|0F O|XASA (F)Ch+ A 367,640 51,460 5,140
2016-12-30 [HiTt2 MMTO5 O|AtASA () A 94,769 13,260 1,320
2017-01-10 [Ci7+2 E7|05 O|XAtASA GO B A 128,094 17,930 1,790
2017-01-25 [HiTt2 MMTO|5 O|AtASA () A 292,527 40,940 4,090
2017-02-15 |[CiT+2d F7|05 O|XAtASA (F)Ch+ S 5,510,054 771,400 77,140
2017-02-22 (CiT+2 87105 O| XA A F+= KA 3,935,753 551,000 55,100
2017-02-23 |Ci7+2 F7|05 O|AtASA (F)Ch+ S 3,681,812 515,440 51,530
2017-02-24 |s¢& E7|0|3 O|XKtASA| sge £ 196,847 27,550 2,750
2017-02-24 (L7128 MMTO|= O|XtASA (F)Ch+ S 342,258 47,910 4,780
2017-02-24 (U2 87105 O| XS A (&) A 1,140,383 159,650 15,960
2017-02-27 |72 F7|05 O|XAtASA (F)Ch+ S 8,598,110 1,203,710 120,360
2017-02-28 |HiTt2 MMTO5 O|AtASA () A 106,667 14,920 1,490
2 A 199,119,504 27,875,670 2,787,100 30,662,770
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[EX] Ma=2|7M4{(1)]

(CH - &
L=! =2 2| OH EOI- 7| % I7:II. oﬁH oF OH
[«=) —] 0 =
Ao|7|Et7 | ZIEHEE 7|& 1,654,288,594 25,800,000 0 1,680,088,594
dol7 = A 9,981,264,178 305,295,000 200,000,000  10,086,559,178
ot A 11,311,415,630 758,130,000 260,000,000 11,809,545,630
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[EX] M4a=27M4(2)]
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[EX] M4=22|7M4{(3)]
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[EX] M4=22|7M4{(3)]
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[ZX] H4=2l8M 4]

g Ao HOM A

(20173 02 28 HAY)

R 8 = | mooma | _ 271s4d9 7] 2 T oy
() S 7t H(A) o A& H(B) Al(A-B)

E X ngg 52,092,074,000 0|  52,092,074,000

13 a = u=sg 0 19,000,000 19,000,000 0 0

o TE= wsg 56,788,600 407,335,000 407,335,000 0 56,788,600

i 21771+ =g 12,478,330 26,500,000 26,500,000 0 12,478,330

s HoHIE usg 4,521,000 5,418,000 5,418,000 9,939,000

N} NI usg 0 0

At =M neg 0 0

HEARE wsg 927,561,100 0 927,561,100

HEIHAE nsg 249,920,000 176,415,000 426,335,000 249,920,000 0

~ A 53,343,343,030 634,668,000 879,170,000 A244,502,000 53,098,841,030

24 0 0 0
ks
NN,

E | 0 0 0

20162 A A OS5 LSt A AkM xis 205 O| X| DIERAMHAMHSED)



[EX] M4=2l8A 4]

A e S = | moogo d7ls 4 7| 2 7t o
), S 7t A(A) Z A H(B) A|(A-B)
2 Al 53,343,343,030 634,668,000 879,170,000 244,502,000 53,098,841,030

20162 A A iT+S ALt ALt xis 214 0| X]| DIERAMHAMHSED)



(EX| M4z 28M Al(1)]

S s 1M KA G NN

(20174 2€ 28 sl

o= A ES el 27157t CRAFZEARL 7| L xkod UM ZEAY O] 2Tt
EX| 52,092,074,000 - - 52,092,074,000 - | 52,092,074,000
He - 19,000,000 19,000,000 - - -
THE 56,788,600  407,335000 407,335,000 56,788,600 3,845,590 52,943,010
2| H 7| 12,478,330 26,500,000 26,500,000 12,478,330 5,474,870 7,003,460
HHE 4,521,000 5,418,000 - 9,939,000 2,510,480 7,428,520
K2k - - - - -
[=PY - - - _ ]
HEHRE 927,561,100 - - 927,561,100 927,561,100
ALIAE 249,920,000 176,415,000 426,335,000 - -
2 A 53,343,343,030 634,668,000 879,170,000  53,098,841,030 11,830,940  53,087,010,090

20162 A A CH5 ACh ZAbM xls 221 0| X| FHAFYALUEMMHIESES)
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[EX] M4=2|9M 4]

Ch 7 (RE ) AF QL 2 E A A

(20174 028 28 & XN)

N o XLl . 215U _ X2 L Al
572 A NEPS = M0 ¥H 7| 2Rl olxte Atsto|sh | - Hl
Sl 2 o =7ty Zhao | x+E 2l
s A 0 0 0 0 0

201632 A9 = S YOSt

ZLhM xls
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of == & M A

(20174 28 28 X))
(EH
I = LY g = o H
Agto| 3 0
Mo +== 1,625,064
S 1Y = 1,625,064
7|EtOl| == 86,383,876
SHA KF2ZH| £ 85,333,876
7| Et 1,050,000
et A 88,008,940
20162/ AA L TS LS AAM xls
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[HX| M4Z210A 4]

O XN == =2 H M M
(20174 2 28 ¥ 1K)

T 2 LK =3 = A H 2
ojx|22 21,125,880
20179HEE X2l dME s M2 X|a=(RHOl) 395,000
20178t H e K22l FME s M8 X|FZ@IEAh 255,000
20179tEHE FARY e =588 X2 0|8 tia 58,000
ShAR 237 10 AEtZ2E ) 100,000
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